Solution for the Error Propagation exercise

The length and width of the table was measured to:
L=35+04m W =08+02m

The Circumference, Area and Diagonal and their errors are calulated as following (assuming no
correlation):

C=2L+2W A=L-W
oc =+/(20L) + (20w)2 oa=+(Wor)?+ (Low)?
C=86+09m A=284+08m
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Now with correlation:
C=2L+2W A=L-W

oc = \/(20L)2 + (20w)2 + (dorw)? o4 = \/(WO’L)2 + (Low)? +2LWo3y,
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Recall that 02, = Vo and prw = 7U‘ZLUW .

By knowing prw = 0.5, we can calculateWVLW and thereby find the errors with correlation:

C=86+12m
A=284+08m
D=364+04m



